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1.
This is an open book examination. Communications devices such as mobile phones are not permitted.

2.
Candidates must answer three questions. All questions are worth equal marks. No additional marks will be awarded for answering a fourth question. 
THIS EXAMINATION CONSISTS OF TWO SECTIONS 

(WITH FOUR QUESTIONS)
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SECTION ONE
1.
What is the function of the criminal law? How does criminal law differ from other areas of law that seek to hold individuals responsible for the harms they cause to others? Explain your answer with reference to the materials you have studied in Criminal Law this year.
2.
According to the Supreme Court in R. v. Thatcher [1987], Section 21(1) of the Criminal Code “is designed to make the difference between aiding and abetting and personally committing an offence legally irrelevant. It provides that either mode of committing an offence is equally culpable and, indeed, that whether a person personally commits or only aids and abets, he is guilty of that offence…” How do we justify this approach to accomplice liability? Do you agree that principals and their accomplices should be held equally culpable? Explain your answer with reference to the materials you have studied in Criminal Law this year.
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SECTION TWO
3.
Alice has disliked her neighbour Cathy for many years. One day while Alice is having lunch with her friend Bob, Alice suggests that they go to Cathy’s house the next day and assault her. Alice says: “Tomorrow we’re going to make sure that the next thing Cathy sees after us is the inside of a hospital.” Bob says he will help and agrees to meet Alice outside Cathy’s house at noon the following day. Alice asks Bob to bring a baseball bat. The next day Alice and Bob meet outside Cathy’s house. Bob has brought a baseball bat and gives it to Alice. Alice has been drinking beer all morning, and Bob notices that she appears to be drunk. Alice knocks on the door of Cathy’s house. After receiving no response, Alice and Bob walk around to the back of the house and find Cathy in her garden. Alice runs towards Cathy and hits her three times in the chest with the bat. Cathy falls to the ground and her left arm is bruised in the fall. Bob says: “I think we’re done here.” Alice yells: “Not yet we aren’t!” Alice then takes a knife out of her bag and stabs Cathy in the stomach. Bob says: “What have you done?” The police arrive at Cathy’s house and arrest Alice and Bob. Cathy is taken to hospital and is treated for her stab wound. Two days later, while Cathy is recovering in hospital her wound becomes infected, and she dies.
The Crown is considering charging Alice and Bob with one or more offences under the Criminal Code. What offence(s) do you think each person is most likely to be charged with, and are they likely to be convicted? Explain your answer with reference to materials you have studied in Criminal Law this year and include a discussion of all elements of the relevant offence(s) and any available defences.
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4.
Adam is jogging in a park. Adam runs past Brian and accidentally bumps into him. Adam stops to apologise, but before he has a chance to say anything, Brian pushes him in the chest and says: “Next time watch where you’re going!” Adam stumbles backwards and falls to the ground. As Adam starts to get up, he notices that he has cuts on his hands from the fall. Adam then picks up a large rock and yells: “I’ll kill you for that!” Adam throws the rock at Brian’s head. The rock misses Brian and hits Chris, who is sitting on the grass nearby. Chris sustains a large cut to their forehead. Chris stands up and, believing it was Brian who threw the rock, punches Brian in the face. Enraged, Brian walks over to a tree and breaks off a large branch. Brian hits Chris in the head with the branch, killing Chris instantly. The police arrive and arrest Adam and Brian.
The Crown is considering charging Adam and Brian with one or more offences under the Criminal Code. What offence(s) do you think each person is most likely to be charged with, and are they likely to be convicted? Explain your answer with reference to materials you have studied in Criminal Law this year and include a discussion of all elements of the relevant offence(s) and any available defences.
END OF EXAMINATION
